NOTRE DAME UNIVERSITY (NDU)
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MECHANISMS AND DYNAMICS OF MACHINERY
COURSE CODE : MEN 430 TIME ALLOWED: 1Hr.
INSTRUCTOR - | CLOSED BOOK
ANSWER THESE QUESTIONS

QUESTION —1- ( 12 points )

For the plane mechanism shown in figure, OA = 50 mm, QB = 350 mm,

BC = 1705@11&0,21%@_111111. iy
Find the ppsition ang ¢ for each link.
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QUESTION —2- (8 points)

Use number synthesis to find all the possible link combinations for 2-DOF,
up to 9 links, to hexagonal order, using only revolute joints.

s




QUESTION — 3- (5 points )

Find the mobility of the automotive throttle mechanism shown in figure.

GOOD LUCK
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